PHYS 1111 quiz 3     Date: ___/___/2023        Name: ___________________________________________
[image: ]Problem 1 
A person of 77 kg mass in a cabriolet car starts to accelerate on a track with the horizontal acceleration of 7 m/s2. The wind creates the resistance of 55 N.

a) (5 pt.) What is the total horizontal force on the person from the chair?











b) (5 pt.) What is the total force on the person from the chair? Find the magnitude and the direction. Show the free-body diagram (FBD)!









[image: ]Problem 2 (5 pt.)
A metal beam of mass m = 200 kg is suspended by 2 cables that make 60o with the horizontal. Find the vertical component of the tension in each of the cables. Draw the FBD.









Bonus (5 pt.) Find the horizontal component of the tension for each cable?









Bonus (2 pt) What is the total tension? Show magnitude and the angle.
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“The uniform steel beam of mass  and length
at B suddenly breaks, determine the tension Tin the cable at A immediately after the break ocurs. T
the beam as a slender rod and show the resultisindependent of the length of the beam.

suspended by the two cables at 4 and B. Ifthe cable:
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